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Question Number : 1 Question Id : 8135611921 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A~
e él Kis) Cis) Ais) Gi)

The above floral formula represents

DD BBEED DRy PASEEBL D HA|IS VoeIoBDDA?

Options:
Liliaceae

. % DBabd

Asteraceae
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Fabaceae

, . e

Solanaceae
4 @ TOI

Question Number : 2 Question Id : 8135611922 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following 1s incorrectly matched?

S08 T°S” 2B 5° RS ABTLAW.

Options:
Petro plant — Jatropa

- DEAE), — 2ED

1. %

Biofertilizer — Azolla
5 % BD 0P — &Y

Biodiesel — Chlorella

.
L o WO GS- Eoer

Medicine — Rauwolfia
Lo 63D\
4,8 N

Question Number : 3 Question Id : 8135611923 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Dry indehiscent fruits of rice is

AP EAMCET 2020

HBS” 6D Y, BIETES DOAW

Options:
Nut
oS (L DAY

1. %

Cypsela
8, =
5> % n'.)oD:)QJ‘

Caryopsis
3 S Dadw

Legume

i ésg)c;“css Do

Question Number : 4 Question Id : 8135611924 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Euglenoids are characterized by

CRPHTTONE CIVS), VLT

Options:
Flagellated, Pellicle. Eyespot

STHBOIVS , DYSS, SotiedE)
1. ¢ o

Flagellated. Pellicle. Marine
, 1 STBOS , DISS, DI
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Pellicle. Eyespot. filamentous
, 9585, Soththg) , BodooinG

Fresh water, Pellicle. Eyespot

y w000 R, DYSS, SotdeS),

Question Number : 5 Question Id : 8135611925 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following books with their authors:

Column-I Column-II
1. Families of flowering plants 1. Species plantarum
2. Linnaeus 1. Historia plantarum
3. Benthem & Hooker 11. Hutchinson
4. Theophrastus 1v. Genera planetarium

BS D)D) forren T8 SroNBVR BBDEy0C..

Sodo-I Sod-11
L DD 6D H380h Jrotsy L DyOD Fotro
2. OJ o0 i, ) BOI® JotrED
3. Bordd & nred T LA RS
4. BAFTRD v, BJ0° Jotrdo
Options:

% (1—iD), 2—iiD), B-1), (4—1v)
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, x -0, (2—iil), @—ii), (4—1iv)
3 o (=i, @1, G—iv). (4—i))

4 % (1—iv), (2—ii), (3—i1), (4—1)

Question Number : 6 Question Id : 8135611926 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Lock and key hypothesis of mode of action of enzyme was given by

VPN :30”5 DQ":I“D‘)_ riJ‘ﬁr) o°vo Sy 200050 T*¥o B i)&&‘»vjr‘\‘)a) AT BN

Options:
Koshland
_— g é"nfi

Emul Fischer
5 @ DS DN

Buchner

AV Iy I )
3. % b

Kunhe

4, % SO

Question Number : 7 Question Id : 8135611927 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Bacterial DNA are used as biosensors in which of the following?

06 T7S° B3 ergBakeS DNA 0 003 DA"6 T &DrAY 60 ?

Options:

Food & Fermentation

e3:35080 & éeasé&a

Vi

Biomining

, o BT 200

Medical diagnostics

| 5’5@ QOO
3. % @

Detect toxic pollutants

" QNP0 STy STESTLRL DB

Question Number : 8 Question Id : 8135611928 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s the eye of potato?

LTS CDoDes” S0 IO

Options:
Axillary Bud

i 92D 2006

Accessory Bud
. ARG D
2... o

AP EAMCET 2020 )
collegedunia:s

India’s largest Student Review Platform

el



AP EAMCET 2020

Adventitious bud
298062 2003

Apical Bud
. §3 204

Question Number : 9 Question Id : 8135611929 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Assertion (A): Water hyacinth 1s source of the water bodies

Reason (R): Offset is the asexual reproducer unit

D 8o (A) : G &), ABIJGVL S*6eso

sedeo (R): 90\ TS gmgabgzg AT ETR

Options:
Both A & R are true but R is not the correct explanation of R
1 % A 08030 ‘R’ Botlr 2B 003). 50 ‘R’ 0998 ‘A’ £ 00 00 D6 STE.

Both A & R are true R is the correct explanation of A

> % A Q0D R’ Gok® RO 2900D. ‘R’ 0938 ‘A’ 85 20 900 DHo¢s.

A false & R True
3 @ ‘A’ DO 2008 5P, ‘R’ D0 20008

A 15 True R 1s false
4 % ‘A’ D8 20008, ‘R’ D0 20008 570
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Question Number : 10 Question Id : 8135611930 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following does not characterize a leaf according to Kranz anatomy?

5'od 080 JT Mo RSB S0 TS’ A VL0 DTV AFWoSED?

Options:
Bundle sheath cells with large Chloroplasts
DG P0G TenDHLD (L o) S SEFew

Bundle sheath rich in RUBISCO
. OB T Serws” DAY, I8 ST S0t

C3 cycle in bundle sheath cells
3 % DoRY S sered’ C3 Swabo 2660

Bundle sheath cells rich in PEPase

2DoRQ) SO Sered ©HS PEPase & $9 Goto

Question Number : 11 Question Id : 8135611931 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following:

a. Emasculation | 1. Prevention of stigma with unwanted pollen

b. Bagging i.  Removal of anthers from the flower
¢. Rebagging . When bagged flower stigma is dusted with pollen grains
SoBT IR RGN
2. QPRG0S | 1 SUBANR OT oAb DT Br)en Mooy AEBoti
b, &5oh i, D06E TR Qityo Aodd D6 Bakod
c. BéRof i, 08 &) iy Ser(0Ry D8] HEBYVS o) S Baie
Options:

 x (@—iii), (b—1), (c—ii)
5 » (@a—ii), (b—1i), (c—iii)
3 = (@a—1i), (b—ii), (c—iii)

4. % (a—ii), (b—iii), (c—1)

Question Number : 12 Question Id : 8135611932 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The scar present on the seed coat 1s called

DB SIt0 2GS ol 20N 906300

Options:
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Testa

ey D2z SIS0
1. %

Hilum
5 @ VS

Tegmen
5 % 90D SHTBAW

Micropyle
. ©0GITIEA

Question Number : 13 Question Id : 8135611933 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

According to pressure flow hypothesis. loading of the phloem sets up a

DED DT i‘)g"uéo 0500, DS SHFVoY A8 6 Boddtio BA DOYEN?

Options:
Solute potential gradient

| TS 0308 355

Hypotonic condition

, Oy TGS o
2. R @

Water potential gradient

5 N8 DI0S 35 D
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Isotonic condition
Do) Trcsed fg@

Question Number : 14 Question Id : 8135611934 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements 1s correct?

S0RT°VS" @) DOTINAL DO IANIE?

Options:
Phloem fibres are absent in most monocots

. IS e TG Trer DEEY D’ Gokd)

Phloem parenchyma are present in most monocots

, % VNS Y0 SRV T DEAY UL’ GotoR

Phloem fibres are absent in secondary phloem
5 TS snre Toe BBOH IS Serws” Godt)

Phloem fibres are absent in primary phloem
4 @ VRS Ser0 TEL TGS NS S0’ God)

Question Number : 15 Question Id : 8135611935 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Frankia fixing of N, occurs in which of the following non-leguminous plants?

Brd D8 ) Sz 5= 208 & BIS" Fodalr HFB .g*':m 20606007
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Options:
Azolla

Question Number : 16 Question Id : 8135611936 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Specialized reproductive structures form through fragmentation in

B008), 00 D) T PSS DBVBYD BICDTVA 6B

Options:
Pinus

DBD

Selaginella

. NTTRIUT

Anthoceros

3 % BoBVTD
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Marchantia

5.4t 5707, oS

Question Number : 17 Question Id : 8135611937 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

How many meiotic & mitotic divisions are required for the formation of 4 embryo sacs from
4 megaspore mother cells. n monosporic embryo sac development?

D8 NS D D8 % 08", 4 Aro 3¢ 2% ArSEET Qob 4 Dotk § TV 053
Soirvot) dJ) £oHese LBALL V) JFude 26H?

Options:
'I' e 2, 12

3 % 4,12

4. v %10

Question Number : 18 Question Id : 8135611938 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

New systematics introduced by Sir Julian Huxley 1s also called

20D TT) BID AT VRATBE B DA0otrdd?
Options:

AP EAMCET 2020 _
collegedunia:s

India’s largest Student Review Platform

el



Phenetics

Biosystematics
| RAI° PSS

Cladistics

3 v TE25

Numerical Taxonomy

&a&_:}gs 36860 7700
4. % 0 =
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Question Number : 19 Question Id : 8135611939 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Parbhani Kranthi, which 1s resistant to yellow mosaic virus. 1s a variety of

DRV Hesy Awarans T(BS ATELS BrYBD) DT Ted D Hoky?

Options:
Sugar cane
1 % wWOS)

Tomato
2 % (Pl

Bhindi
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Maize
;‘.msb é‘?aﬁi

Question Number : 20 Question Id : 8135611940 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following was selected to construct the first tDNA by its plasmid?

2006563 DNA Sair86" S0 H8) 8y 0&° B FE & o) 5T 60?

Options:
E coli
1. 8 éa-gﬁa

Salmonella

, o TERY

Agrobacterium
 eoff erSBos
3‘ e e

Hemophilus

4% PRI

Question Number : 21 Question Id : 8135611941 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following:

Column-I Column-II
1. Spring wood 1. Narrow lumen vessels
2. Autumn wood i1. Conduction of water
3. Heart wood 1. Wider lumen vessels
4. Sap wood 1v. Resistant to microbes

S0t TR 2 DOt

S o -11
1. SVoeh Trdd) L AV BI5"ISW (L TOT T
2. 3660 i, 8 HOGe
3. 00T A . QT V0NN SIS (0 T AT YLD
4, GRHTEOI) v, Arg) &9 DB G5S
Options:

o @—iiD), 2-1), 3-iv), (4—ii)
, x (1—ii), (2—iii), B—iv), (4—1i)
3 % (1—D, @—iD), 3-iv), (4—iii)
4 % @—iv), (2—iii), B—1), (4—ii)

Question Number : 22 Question Id : 8135611942 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Quiescence in the seeds can be removed by

DedTees’ 30Dy A Suflothd DA
= o

Options:
Bolting

% eS‘Q::ﬁ

Scarification
5 -
. &bﬁpéq.s

Vernalization
, D0\ TINS

Photoperiodism
% 500 SPUrI8

Question Number : 23 Question Id : 8135611943 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following is called stress hormone in plants?

213052506“ D ::66"&5 29 DAVIESD DB?

Options:
1 ABA

Auxin

> % ?.‘Ié;)f)
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Cytokinin
2E5°8DS

Gibberellin
4 % &BJEIGQE)

Question Number : 24 Question Id : 8135611944 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Duplication of DNA can occur at which phase?

DNA D888 D 395° 2600207

Options:
Go Phase

S Phase
5 v S&%

G, Phase

M Phase
4. % M &3

Question Number : 25 Question Id : 8135611945 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Ecological adaptation in xerophytes does not include

S0H7S° Aed ?msbvé‘ €3:5089 Volo®eh AETVN0 S A MDBoTLAW.

Options:
Silicaceous epidermal cells

. Osc ot ey tﬁd& geTee

Sunken stomata
, % OOED DY Somren

Aerenchyma tissues
3  TPS0ING SLaFPVAW

Well-developed vascular tissues

(Axlabiond eﬂe'_.’)aag Do T°YS® S
4, ®

Question Number : 26 Question Id : 8135611946 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following are extensively used in biochemucal and genetic work?

S0 TS" LD6J 0D BBAKN 2] BTGV’ IS EHArABH

Options:
Alternaria and Trichoderma

- e.agc‘iolaoﬁr 08030 gas"a.dé

Mucor and Rhizopus

w B0r(576 080w PEDI

3.
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Claviceps and Neurospora
STDRDy 080k AT\

Ustilago and puccimia

, w CS0DerH 2odakn HSydas

Question Number : 27 Question Id : 8135611947 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

“Mineral 1ons are frequently remobilized” 1s not applicable for

P OSTVS” SoBT VS’ 8%y AR By Sddrr DT Gotrow.
Options:
Phosphorous

TG
ha

Sulphur

Nitrogen

85722

3. % &%

Magnesium

,. Zﬁjﬁ‘lha‘i}n
4, %

Question Number : 28 Question Id : 8135611948 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020 _
collegedunia:s

India’s largest Student Review Platform

Orientation : Vertical

el



AP EAMCET 2020

DNA strand separation enzyme

DNA JPerin SEBSo5n doad

Options:
DNA polymerase
. DNA 39265

Endonuclease

, Do& Arzcird

DNA helicase
3 DNA 985

DNA Ligase
« DNA 3

Question Number : 29 Question Id : 8135611949 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Mathematically. growth rate is expressed as

(163 TR DO DAMEL HfSo BOI DN

Options:

1 ¢ Lt:LO+T't

2-% Lo:Lt-I--rt

o i lemer‘t
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4. % W =W1€rt

Question Number : 30 Question Id : 8135611950 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Example for crop improvement using mutation is:

&3\85800 T(T” DDA DO DI(DI)BS &m-roee:
- @ @

Options:
Resistance of yellow mosaic virus in mung bean

oy DRDLS” DAYV ANVZE DD (B TGS

Resistance of bacterial blight in cowpea

08" ergBoeS B drben TG eSS
2 % -

Resistance of chilly rust virus in chilly
5 % QDODS” D BN PED T(B OGS

Resistance to white rust in brassica
n esTred” By Brben T B PSS

Question Number : 31 Question Id : 8135611951 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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a. Vernalization 1. Sudden elongation of internodes

b. Ethephon i, Ability of plant to form different structures

¢. Bolting 1. Ethylene releasing chemical formulation

d. Plasticity v, Pre chilling treatment to induce flowering
SoBT° AN RADGAW:

a. bdlgsa’qﬁ 1, esi)&s SEVRY ArG(Hre MG

b. BT i DSOS o) Erwd6BE e, 3“&)2513

c. &5Doh iil. 200S 689 B 6Iabd derdo

d. ?gbﬁ Iv. :;ydséébsoea DR TO° R YE 208
Options:

, x (@—1iv), (b—iii), (c—ii), (d—1)

L« (@=1), (b—ii), (c—iv), (d—iii)

v @—iv), (b—ii), (c—1i), (d—ii)

4 % (@— ii), (b —1), (c—iii), (d —iv)

Question Number : 32 Question Id : 8135611952 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020
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Assertion (A): The rise in the rate of respiration leads to respiratory climactic

Reason (R): Ethylene 1s effective i ripening fruits.

DB (A): F7RED 86065 DAMGY TREOD 3588 I &b SOV,

5600 (R): 20D Dot HDGANIL Be50\06" &'y o)

Options:
A i1s false. but R 1s true
‘A’ 58 20038 T°E). 59 ‘R’ 08 90058

R i1s false. A 1s true
A’ 28 90038, 579 R’ 8 90058 5°¢0

Both A and R are true. R 1s the correct explanation of A
3 A S0bain "R 2O 22002. ‘R’ 938 ‘A’ £ 289005 D506

A 1s true but R is not the correct explanation of A
‘A’ 98 90058. 52 ‘R’ 0938 ‘A’ £ ©8e900D NS5 U0

Question Number : 33 Question Id : 8135611953 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



AP EAMCET 2020

Match the following:

a. Typha 1. Free floating hydrophytes

b. Nymphaea i, Submerged. suspended hydrophytes

¢. Salvinia 1. Amphibious plant

d. Hydnlla 1v. Rooted hydrophytes with floating leaves
SoRT AN BNGIAW:

a. O 1. S\ SDosrd A dwe)en

b. Dodasr i, QPO ABS" A0DB BBASIT Gol 2E) e

c. FOQar | il GHoDS g

d. >aer iv. S do ddasrd Hgrew o g e

[

Options:
. (a—1i), (b—ii), (c—iii), (d —iv)

, v (@—iid), (b—iv), (c—1), (d—ii)
3 % (@—iii), (b—iv), (c—ii), (d—i)

4 % (a—iv), (b—iii), (c—ii), (d—1)

Question Number : 34 Question Id : 8135611954 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is not a feature of structure of DNA?

$0d T°¢5° & DNA :)U“écrné DG VEEAD?
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Options:
The pitch 1s 5.6mm
1 « @rCo 5.6mm

10bp 1n each turn
: OB S06dS” 10 376 2800 &otOD

Distance between consecutive base pairs 0.34nm
28 2 0 200 206 Grdaw 0.34nm

H-Bonds confers stability

E 2D Loren .gcsws.bl QLSO

4, % =

Question Number : 35 Question Id : 8135611955 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Transgenic plant roundup ready soya beans are resistant to

28] DOIGH G0l D 8¢ ol DD 808 TOS° B IFTBSAD?

Options:
Pesticide
| % DG TE35°B

Herbicide

f'i)ﬁ.)é 3050
2.

Drought
3 % SO

AP EAMCET 2020
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Pollutants

4 % ?wq sS°0sTe)

Question Number : 36 Question Id : 8135611956 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Staminode 1s a

gua)sds 09 DN w8

Options:
Sterile flower

. ;:)nc‘,sis ‘f‘.g_)a":{bap

Sterile pistil
— €906 8030

Sterile stamen
, 206 SSRGS
3. ¢

Sterile ovule

bnc;'>5 9065
4, %

Question Number : 37 Question Id : 8135611957 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following parasitizes the tobacco plant?

S$08 T°° DA FTrLd :msl,é" soed bwacléb?
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Options:
Ascaris

| x BB

Saccharomyces

5 % TOTONS

Meloidogyne
3 o DSDEFD

Bacillus

4 % EPOOD

AP EAMCET 2020

Question Number : 38 Question Id : 8135611958 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Rubber does not swell in water due to absence of

ST e5”

Options:
Osmosis

1 % QTDV0

Plamolysis
. SEIED) DoS'tdo

Imbibition
3 o DDA

26068 VP30 0D Hedes* ey 6 €erncd.
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Diffusion

4 % ONOE

Question Number : 39 Question Id : 8135611959 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

ulphur 1s an important nutrient for optimum growth and pr Ivity in
Sulphur 1s an important nutrient for optimum growth and productivity

S8S° RSB DEDEVL H0BoIN GO\ GSO ‘63035 S0, J%0?

Options:
O1l seed crops
1 @ VRO DSD Dotrew

Pulse crops
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Question Number : 40 Question Id : 8135611960 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Dysgenics 1s the study of
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Evolution of Man
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Improving human race
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Chromosomal mutations
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Undesirable trials of the human race and genes causing them
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Question Number : 41 Question Id : 8135611961 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify the tncorrect statement about morphology of cockroach.
1) Head is formed by the fusion of six segments
2) A pair of thread like antennae arises from membranous sockets lying in front of eyes
3) Tegmina are opaque dark and leathery and cover the hind wings, also helps in flight
4) In females, the Tth sternum 1s boat shaped and together with the 8th and 9th stema form a brood pouch
t5"Qo8 ey AP Moc) S0 RasTed’ 20 A Mool
1) 80 e5) 20CT0 50008 DO JOYE
2) w8 6 Teaand Ry0) 30meD SR Swod 2’ o BGIaine Hod Mok ooy
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Options:
1. % 1
2. % 2

3. ¢ 3

4. % %

Question Number : 42 Question Id : 8135611962 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify the incorrect statement(s) from the following:

a)
b)

Labrum 1s called lower lip

Hind wings (mesothoracic) called tegmina.

Gizzard i alimentary canal 1s also called proventriculus.
Exchange of gases take place at the tracheoles by active process.

The opening of the spiracles 1s regulated by the sphincters.
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Options:

(a). (b). (c) and (d)
1 % (@). (b). (c) 0805 (d)

Only (a). (b). (d)
EONONGIESS =

Only (a)
3 « (a) SrES

Only (b). (c)
4 % (D). (¢) Srgdo

Question Number : 43 Question Id : 8135611963 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Possible blood groups in children from the parents with blood groups ‘B’ & ‘0" are

Do 65360 ‘B’ 0808 ‘0" WONIYW T8 H0Y TS B35 R0 63) 65500

Options:
Only ‘B* & 'O’
1. ‘B” & ‘O doegda

Only ‘A" & ‘B’

, x ‘A& B’ argd

All blood groups
3 % 0y 68 STren

None of these options are correct
i i @ 2IT°E DEADIE 57

Question Number : 44 Question Id : 8135611964 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements 1s correct regarding Mangifera indica, Solanum tuberosum
(potato) and Panthera leo (lion)?

208 S ofnd Rolse, Terdad wswa& 208050 Fotste DABrHL PotioBot) DB
00 TR0 (LY.

Options:
indica. tuberosum and leo. represent the genera.
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Mangifera, Solanum and Panthera are specific epithets
5w 000DC, TP JBIL FroGT” RVDD A AL

Mango belongs to Solanacea, Potato belongs to Family Anacardiaceae and Lion belongs to Canidae

B Sraddi- T, Lo (od- ©ISEAD, Noirin- °IE M RotioBoddd

Mango belongs to Anacardiaceae. Potato belongs to Solanacea and Lion belongs to family Felidae

» Sraodi- ©ASTAD, Loy (oo TOAN D0erAn- DG AL PotioBowda)

Question Number : 45 Question Id : 8135611965 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In a pond. there were 30 lotus plants in last year. Through reproduction, 25 new lotus plants
were added by reproduction in one year while 8 plants died. The birth and death rate for the
lotus population respectively are and mdividuals per lotus per year.

208 SORG” (19 VoSG 30 T8 28,00 VY. 28 Vod\E STLAY" 25 §8
2008) 00 DANSYS Tr(D° DG YErow. HHBakd 8 g0 AT akran Lowd 2% B
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Options:
.« 0.83, 0.26
2‘ ) 4 0.26, 0-83

5« 025, 0.80

4 = 0.80, 0.25
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Question Number : 46 Question Id : 8135611966 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the number of bones present in Axial skeleton, for each A. B. C. D listed below.

O DoR6AN &' §od A, B. €. D 08" 5080 Dofodd 80w

Label/&wé Bones Jansen

A skull 0
B Ribs ﬁd}bs@
C sternum ﬁ&‘f{g
D vertebral column bmiw&)

Options:

1‘JA—ZZ, B—24, C— 1, D— 26

> % A—26,B—24 C— 1, D— 29

3 % A—-29 B—-26,C— 1, D— 24

A—39,B—24, C— 1, D— 28

Question Number : 47 Question Id : 8135611967 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020

e collegedunia:

India’s largest Student Review Platform

el



AP EAMCET 2020

Read the given statements and select the correct option.
Statement 1: Zone of transition between two types of communities is called as ecotone

Statement 2: Estuary 1s an ecotone between marine and fresh water communities,

80 DIBTO BEFEIVTT HO BAND DIFTHIW KBl
D390 1: Botd) 18, £ S0Gerw WE(1L 0B JEEPS Bkt

DS 2: 3 S0 (oL BB V&G LB 008 ATV ¢ o AEEPD

Options:
Both statements 1 and 2 are correct and statement 2 15 the correct explanation of statement 1.
- 2t 1 208030 2 Toter "foﬁg_'bé:), DIt 2 AN DAL 18 RO 208

Both statement 1 and 2 are correct but statement 2 1s not the correct explanation of statement 1

D900 1 28080 2 Botkr HBARD, 57D HIBAW 2 BRVHB DIHAN 1 § PO
5 QIGE DG S

Statement 1 1s correct and statement 2 1s mcorrect
3 % RO | AOADAG, DOV 2 VO 57D

Both statements 1 and 2 are incorrect
4 % et | 20003 2 Tl ?oécg)e‘{):) 5°)

Question Number : 48 Question Id : 8135611968 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Cleidoic eggs are characteristic of
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Question Number : 49 Question Id : 8135611969 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Hypophyseal portal system is found in

o 2O Fe R Tou U1 QT (ERT° DD DE), & €x0t08?

Options:
Heart
1. 8 Lok

Brain
2 DICICD

Liver
3‘ 3 S"QjOﬁJo

Kidney
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Question Number : 50 Question Id : 8135611970 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The Functional unit of nervous system 1s

> DD AE), SIS S 2°BA0

Options:
Brain
1 % DO

Neuron
, ¢ TGSt

Skull
;. % B

Veins

5

4 % DO

Question Number : 51 Question Id : 8135611971 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Dopamine is a type of

EDD 9D 28
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Pain Killer

55y D8
1.%

Neurotransmitter

5 ¢ DT IrEo

Tranquilizer

3 % DT OETW

None of these options are correct

p ow O 2T DBAVIG S°E

Question Number : 52 Question Id : 8135611972 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements 1s correct?

a) The number of organisms can increase but never decrease once a population reaches its
CaITying capacity.

b) All population experience exponential growth once they reach carrying capacity.
¢) A population always grows rapidly once it reaches 1ts carrying capacity,

d) Limiting factors can influence the number of organisms in a population once it reaches its
carrying capacity.

308 T3¢)° @ DN DO ©0HG?

2) WD T rOTIRD 333 SHI)ond 2o Vo DANHEAE 5 Blode

b) o) avwre edTed’ J?J‘)Fmbojjﬁ DDA WEF0 wrdaars 338 dhotran

¢) BTT wIFO TOTP 338 SOOI NS &8 3TE JYR)EP Fodom DADE ArDE

d) 2T w80 roTard 338 SOOI NS & TE BPL VoY VBB S BoTeD
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Options:

1. % @

Question Number : 53 Question Id : 8135611973 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

During ventricular systole in a mammalian heart the

S80S TPyBaDAD Hodd (L BEBSL W8T VIADHES’

Options:
Ventricular volume increases
1 % 2605° SOIPGAD DD AT 0D DA

Bicuspid valve opens
5 % ADG ST LA SEWSILWS

Ventricular pressure increases and becomes more than the atrial pressure

, . 2005 SIP6 DABAD DBA, SBE LIPG DEBAD ol IS O

Ventricular pressure increases and i1t becomes equal to the atrial pressure

. 2EBS® L0P0 HEDAD DA, 05 g HEDIADS PDATDAIR
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Question Number : 54 Question Id : 8135611974 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following 15 not the work of the mentioned scientist?

a) Georges Lemaitre first suggested the big bang theory in the 1920s
b) Solar System originated from a nebula was first proposed Johannes Kepler

¢) Haldane proposed that the primordial sea served as a vast chemical laboratory powered by
solar energy

d) Louis Pasteur showed that in pre-sterilized flasks, life came from killed yeast while in
another flask open to air. new living organisms did not arise from ‘killed yeast,

306 A" YD DBAID BB DA VBT 2O DS DBOAY.
2) O erofi DFroBD 1920 & VoIS’ &§ Tang) VO ATHW
b) 6 Lenowaw Defer Mod EGYDeHE 8 E'Pdy F0b DA BT D
¢) GO WOV AAE) FO 3§ & HOPR) w8 BN PAPITOM YAFBEW

d) 28 SD00ardaNT &) d) § SATeND &Y Hoc 2w eI Bk BB
93 SOVSODOED PR, & BT HY ol FQ pAHI) B EGYyDSTE
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Options:

1.% 8
3. 8%

4.v d

Question Number : 55 Question Id : 8135611975 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Plant that does not obey Mendel’s law 1s

Fobl-Tat)) ae,mg‘mgvm RVVBWA A8

Options:
[ berisamare

1% Ua&'n)ma

Mirabilis jalapa
5 DTDOD 2D

Cicerarietinum

3 x D0 VBOI

Pisum sativum
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Question Number : 56 Question Id : 8135611976 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Human sperm was discovered by

AIPND BOSSETLOR OWHH

Options:
Pander

Graaf

e

e
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[ eeuwenhoek
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Aristotle
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Question Number : 57 Question Id : 8135611977 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

“Shortt & Garnham” discovered
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Options:
Anisogamy
w RV VoI fio

Schizogony

5 o Do 25Do

Oogamy

3 x Yol VodI-fo

Isogamy
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Question Number : 58 Question Id : 8135611978 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Respiratory centre 1s present in
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Options:
Cerebellum

wmm?_._::%o

Medulla Oblongata
SIS

Cerebrum

L DRDRCD
3., " B

Hypothalamus

4w TVTODD

Question Number : 59 Question Id : 8135611979 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In which of the following 1s the word properly matched with 1ts definition /meaning?
a) Spermiation - Release of sperms from Leydig cells in testes
b) Capacitation of sperm - Obtaining the capacity to fertilize ova by sperm.
¢) Chryptorchidism - Testicle remains undescended

d) Cervix - Neck region of uterus

S0ATAS" Q HErRS(Horesd) oo ega»/aosman RO 28 HEBLCIE?
2) 0,002 ~ APVSTORD A0y A Aol Faih SErvR AR BFaw
b) #ogse b"mgsaea;ﬁn - Dodson 32 &mg"s:)& J0re SR T Tocsera.
c) gg%da&) - a».’rz,w :m:abﬁ‘van 6’8 2Bt ol S
d) fomy 3ot SweEr(san — domy3ob FodAS” WL AVDE(EAD
Options:

Only (a). (b)

Only (¢)
2 ® (c) gl

Only (b). (¢) and (d)
3 v B). ©). (@) g

(a). (b). (¢) and (d)
4 % (@ (). (c) 208050 (d)

Question Number : 60 Question Id : 8135611980 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Scales in Cartilaginous fishes are

D0,E0e7D) BHVS (0 LR

Options:

Placoid

| ¢ TTOE

Cycloid
)« DTWE

Ctenoid

Leptoid
. Oran&
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Question Number : 61 Question Id : 8135611981 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Read the following statements and select the correct option.

Statement 1: The exaggerated response of the immune system to certain antigens present in
the environment is called as allergy

Statement 2: The allergic tendency 1s genetically passed from the parent to the offspring and
is characterized by the presence of large quantities of IgG antibodies i the blood.

& $oBT NS’ 0 e HIWHAD ) Edw
DOSIAD 1: TEradnaw §° ) pdadsud B8 ess {8 agg»ow

90505080 D000t3E A0 B mnlwsnn (weﬁ‘g) 89 9ot
D3IV 2: 008 vgnAY 380w Aol YL L VosNRV0E Botrd) wBaD I

DO B85 0AS ':ooaasé‘ $0A Gotron

Options:
Both statements 1 and 2 are correct and statement 2 15 the correct explanation of statement 1.
1 % 290030 T Hdakn 2 w0 900, RN 2 WAVAEA 1 L VB AN e

Both statement 1 and 2 are correct but statement 2 1s not the correct explanation of statement 1
> % 2900 1 08050 2 B 0NN, PDINHD 2 VARG 1 D VO VOV VS6E 7

Statement 1 1s correct and statement 2 1s incorrect
3 RWAAD 1 VO VANAB, DIWADW 2 VO VOVIL 5°

Both statements 1 and 2 are incorrect
4w DIBBA0 1 20B05L 2 B LONID 5D

Question Number : 62 Question Id : 8135611982 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Graafian follicles occur in

a0 DS A8) & SVD?

Options:
Sperm

Ovary

?_gef.)&gﬁ%'o
2. =

Question Number : 63 Question Id : 8135611983 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Complete this paragraph by selecting correct sequence of words:

Several genes called (1) have been identified in normal cells which when activated will turn

mto _ (2)  and under certain conditions, could lead to cancerous transformation of the cells,

So6 DTS’ 1 280K 2 VR KoBotsod::

FEron el dre od¢ (1) Miednron. & adope §9) :aaigmms‘ Sasrd)

_(2)

378 Yoo Sore 8316 Srrenrr Srd)y Sodiorow.,

Options:
(1)- Oncogenes (2)- Proto oncogenes
. s KF ZEEASN (2)- TE" 082Dy
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(1)- Cellular oncogenes (2)- Proto oncogenes

, o (1)- S0 082D, (2)- 'E° 308 2Dy

(1)- Proto oncogenes (2)- Oncogenes

3 (1)- g"es‘ angsc‘.gaf)b (2)- Eﬂgﬁé.f)‘)

(1)- Oncogenes (2)- Pro oncogenes

 » (1)- 30823y (2)- F 308Dy

Question Number : 64 Question Id : 8135611984 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Ascaris belongs to nematode and Taemia belongs to Platyhelmenthis, but they exhibit which

of the following as a common character?
7,80 DATEE D 3063, BT FLPV)0BD H% BodIO T & $od TS’
V£0:0 Gotd )T 2060,0t0R0?

Options:
Sexes are separate(dioecious). 1.e.. males and females are distinct.

| x 98Don BHew I 26, BE, BHLO OB Gotrow

Fertilization 1s internal and development 1s direct

, 29096 DORBCEDD HodAkD DS DT

bilaterally symmetrical and triploblastic

L Bg0y s Sodobo 9308
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Hooks and suckers are present

4% §8),%0 Jndatn BriETen SO

Question Number : 65 Question Id : 8135611985 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The first transgenic plant is

D0EE 2RA(DBS0S A8,

Options:
Tobacco

Maize

5 % 2;1)52)&“ D)

Tomato
3 % E)T°8)

Potato
2OITH 0D

Question Number : 66 Question Id : 8135611986 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Arytenoid Cartilage 1s found in

DOET00E D)@ $dAN
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Options:
Nose
S8

Larynx
‘63563365

Sternum
af
, @

Hyoid

4. %

o i lov b lebblmt
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Question Number : 67 Question Id : 8135611987 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The Alkaline nature of bile 1s due to

2PO(0V0 FOEIARS 57080

Options:

. o NaHCO;

2 ® NaCl

4 % KOH
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Question Number : 68 Question Id : 8135611988 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Protozoan are usually

522D BHHew J oGl

Options:
Multicellular
1 % TV 2PV

Unicellular
il 0SS 2HHew

Tissue grade

E8925°0) IO
3, % e

None of these options are correct
4 % O BT DOADLIA ST

Question Number : 69 Question Id : 8135611989 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Urea synthesis takes place in

A3rBasr BArSH HBFo

Options:
Kidney
1 % Sargdootio

2.
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Liver
s 0o

Urinary Bladder
3 % SAPETIODO

Alimentary Canal
4 % BD6TVo

Question Number : 70 Question Id : 8135611990 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following statements 1s incorrect about “test cross™?

S0d DIVT VS’ “9353 5°R" 80w DB 57 DIOWDL DBoTLAW.

Options:
It tests whether an unknown individual 1s homozygous
28 3D H(§ DAoas) 280 © WBTES

1.%

The test individual is crossed with a homozygous recessive individual
, WS D58 Aoy RB0INA RANE TR WSS

If the test individual 1s heterozygous. the progeny will have a 1: 1 ratio

2 004 mdondd a5§ NN a3} 2P Dg‘&oéc‘.‘.an. B dorew 1:1 :}‘&13@6‘ GotTon

If the test individual 1s homozygous, the progeny will have only recessive individuals.

o DOLmAeDE SiE doabor) e eond Bl ST Arod] (RN VYT
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Question Number : 71 Question Id : 8135611991 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The ‘Coelom” was coined by

“30062°G0” 99 Do DAFRoWDE

Options:
Bentham
1. 8 ﬁccﬁﬁ)

Haeckel
, @ TBS

Robert Brown
o0 &
[ - ]

we

Robert Hooke

., o0 VS
4, % ()

Question Number : 72 Question Id : 8135611992 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The branch of “Histology™ 1s also called

SERPOT VoA & S0B DBl ST DLV

Options:
Anatomy

;% Eﬂc@&g_w&mﬁ“ga
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Micro-Anatomy
‘R)J“ié Eﬂn@ﬁlﬂ"ém?"c_ga

Cytology

ST Ro
3 % =

None of these options are correct

4w O BT VOIS ST

Question Number : 73 Question Id : 8135611993 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following is a bone of skull?

S0HT°3e5° HT DAS (BoIC..

Options:
Pterygoid
1 & SOmros DS

Femur
) % DG DS

Atlas

5 %gc;csu

Tibia

e90HB0.08
4, % &
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Question Number : 74 Question Id : 8135611994 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In which of the following. the hormone 1s meorrectly matched with its source and function?

Hormone Source Function
(i) | Glucocorticoids | Adrenal Cortex Produces anti-inflammatory reactions
(i) | Vasopressin Postertor pituitary | stimulates reabsorption of water and electrolytes
(iii) | Parathyroid Thyrotd Decreases the blood Ca’™ level
(iv) | Melatonn Pineal gland Maintains sleep-wake cycle

300" 0, GG ob] dvaw, DAY TS VO 2O A T Hocod

60 &89 by H3¥0 24

() |rEsfzon | o8 58 o |28 EBERN SORM Ser Sed

i) |00 20 D0 AW, JOFTE) YT e Do daod

(iii) | FoRont a8oné ogawes’ Ca** Fowd BAFron

(iv) | 200D DAL (fod G, DD HIrD) §9FAed
Options:
. % )
> % (1)
3. o (i)
4. % (1v)

Question Number : 75 Question Id : 8135611995 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which 1s the largest bone of middle ear

;3.)(;55 D) Do) (0 oS bg e0S

Options:
Cochlea

| x S°gair

Incus

, % 6O

Malleus

3 Sre)So

Stapes

- EorodT"
4.% & @

Question Number : 76 Question Id : 8135611996 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Arrange the following steps mnvolved i rDNA technology in right order:
a) Obtaming the Foreign Gene product or Recombinant product

b) Downstream processing

¢) Isolation of the Genetic material (DNA).

d) Insertion of desired DNA into plasmid and Releasing of recombinant DNA info Bacterium,

e) Amplification of DNA by PCR

1DNA o305 Rototior) Sobd 3V DB LoD ENANG ©KGyol.

2) DA For PIRWAWrRE 2RO ot

b) &8 RS0 1A &° $0 Hasod

¢) aaa;::wgal (DNA) 36 dotnty

d) 5390 DNA &0 )6 608 pdL00 dai QY¥RBdirad DNA & ergdolr
&5°8 DG Bk

¢) JOBS6e 30w 56§ (PCR) &rqoe DNA & e0s "u:oa;sa‘f‘ &3 Bobhow

Options:

- c—»e—=>d—-b—a

, x e>c—>d—a—b

;3 x d>e—>c—>a-b

i QP EFES A2 a—b

Question Number : 77 Question Id : 8135611997 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Statement 1 -Arthropoda s largest phylum of Animalia which mcludes insects.

Statement 2 -Over one-fourth of all named species on earth are arthropods

DOBIA 1: LSV &ree SBND Bodd TR(ANE" DEF I e

QOB 2: Frd N 2 8983 rdovds’ TOI Sody 2SO ugﬁ“w&‘o A

Options:
Both statements | and 2 are correct and statement 2 1s the correct explanation of statement 1.
1 % 29U 1 odokw 2 20 900N, RIVAN 2 VNG 1 A O oD Do

Both statement 1 and 2 are correct but statement 2 1s not the correct explanation of statement 1
S DO 1 3080k 2 00 0003, DI 2 BRIB 1 3% 90 LN DI S

Statement 1 1s correct and statement 2 1s incorrect
g i Q;ﬁt‘.’)c‘b&ﬁn 1 D0 92000 O3 8T 2 VO 7

Both statements 1 and 2 are incorrect
4. % 2R 1 20003 2 Tollo® VO 5°)

Question Number : 78 Question Id : 8135611998 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Alimentary canal 1s absent in

ég TVo S oD 2

Options:
Planaria
- Qﬁ&oﬁr

2. W
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Liver fluke
056 S

Blood fluke
(AT ‘gyé

- A

Tapeworm

AlaRo)letleh
4. R

Question Number : 79 Question Id : 8135611999 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Theory of abiogenesis was conclusively disproved by

(DTATo b b P~ A ) iag“oe:&:m DD B AEFD0DLCAD

Options:
Conducting swan neck experiment by Richter

| x D6 IS, Lo D¢k F), DOVCAI T

Conducting broth experiment by Spallanzani

. i RS 2R EESHED QU DATAIL TT

Conducting swan neck experiment by Pasteur

- F3\6 D), TP e IR, PALEABL TO"

Conducting maggot experiment by Redi
i » Bek 2D (Gorsan) DATADL T
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Question Number : 80 Question Id : 8135612000 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Pyramids of Biomass in pond eco-system are

DEDY) 90 BT 9066 35:3736‘" LOGD0°F 6WE QO Gotod

Options:
Upright
1. % ETED

Inverted

5 o Sedocen

Linear
3 x 0N

Irregular
4 % G20

Physics

Section Id : 81356142
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
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Mark As Answered Required? : Yes

Question Number : 81 Question Id : 8135612001 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Distances travelled by a body in first three successive equal intervals of time are in the ratio
,1f 1t starts from rest and moves with uniform acceleration.

00300 Aot £)03eEd ‘bmégdménﬁ DO dotd DY) 0L SUPE) HEW VAR
50 DGV Hasrtied Gromw Jid

Options:
1 % 1:2:3

> # 133323

3 122743

4 % 1:3%:5°

Question Number : 82 Question Id : 8135612002 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
A parallel plate capacitor consists of circular plates each of radius 10 cm separated by 2 mm. If
the charging current be 0.2 A. What 1s the rate of variation of potential?

ausangma 10 cm o HT50 DUV BAD DATIE DG Sr N6 & Dugen 2 mm
DS Gorsearon. D 0.2 A4 DS & e300, T TOYoS Sty e dod?

Options:
9 —
1_\___/-1.44><10 V.s™?!
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, x 288x10° V.s7!

3 % 0.72%10° V.51

4 % 036%x10% V.s™*
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Question Number : 83 Question Id : 8135612003 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In the given circuit, if the ammeter reads 5.0 A and voltmeter reads 20 V, the value of

resistance R 1s

80t WIHD H00Does vboémé 5.0 4 0&0, 56 6 20 V 0k 1ardeciddeand,

OG0 R Dend doeh?

.o
54

Options:
1.« 4Q

, % 100Q

; % 0250

4‘ b 4 O.SQ

- N
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Question Number : 84 Question Id : 8135612004 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two hot bodies B; and B, have temperatures 100 °C and 80 °C respectively at time t = 0, The
temperature of the surroundings is 40 °C. The ratio of the respective rates of cooling R, and R,
of these two bodies at t = 0 1

t =0 3¢ 100°C 28050 80 °C &6 36 B, Sobat B, 6 Bocd) 68 3100 40 °C

2BVTV egﬁga 96 &I oW t =0 3¢ 8 389860 Beve, Ry S080in Ry © A8 =

Options:
1‘\_}R1:R2:3=2
2-$‘R1:R2:5 4

Question Number : 85 Question Id : 8135612005 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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An unknown resistance R, is connected in series with a resistance of 10 €. This combination 1s
connected to one gap of a metre bridge while a resistance R, 1s connected m the other gap. The
balance pomt 1s at 50 cm. Now. when the 10 € resistance 1s removed the balance point shufts to

40 cm. The value of Ry 1s

28 300 A Ry & 336" 10 Q ) 580 & Dodirma) w8 o2y DG aos),
w8 08" D6, DE Botkd) 0" G R, SV, Rodowd T 50 cm ¢ &) 6.
) © 10 Q W) SOAY odowd T 40 cm S¢S 286, Lowd, Weaw Ry
HIW

Options:
1. % 60 2

5 % 40 Q
3209

4 % 10Q

Question Number : 86 Question Id : 8135612006 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The maximum and minimum tensions in a string whirling 1 a circle of radius 2.5 m are in the

ratio 5 ¢ 3. Then. its velocity s m.s~t

25m (6o o 555006 84 86 alog), (188 HoBosy S Sdj8e G 5 3
oD, TR ffo= (m.s™! )

Options:
1.% 7
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Question Number : 87 Question Id : 8135612007 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The change in internal energy of real gases 1s given by dU =

28 D2 T"0IVY) WMWE) VoGS 35S Jddy dU =

Options:
1 ! v/ CUdT

5 u Ll

. (€, —Cp)ar

4 % RdT

Question Number : 88 Question Id : 8135612008 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A thief stole a box full of valuable articles of weight ‘W" and while carrying it on his head
jumped down from a wall of height ‘h’ from the ground. Just before he reaches the ground. he
experiences a load of

8 Boff W 0B 0 3L DD 0P GoSoED *h’ Ao o Hep Bood 7P DAS
EPSTE). ZPaDA) BES006E) 9K 9 Fow TGN

Options:

1.v 0

w
2.8 %

3.8 W

4_3& 2W

Question Number : 89 Question Id : 8135612009 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the coefficient of friction between the rubber tires and the road way 1s 0.25. Find the
maximum speed with which a car can be driven round a curve of radius 20 m without
skidding. Given. g = 9.8 m.s™*

B, Ben 6> B8 06 0ges easw 0.25 wawd, 20 m 35&3m (o) How)
Srga0e" 28 6 ZOSE dod (18R HiAS Hosredecsdddy? (g = 9.8m.s77)

Options:

1 % D m.s !

s % m.s 1
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x 10 m.s~ !

4 % 14 ms

Question Number : 90 Question Id : 8135612010 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A copper rod of length ‘1" 1s rotated about its end. perpendicular to a uniform magnetic field ‘B’
with a constant angular velocity ‘w’. Find induced e. m. f. between the two ends of the rod.

T T 60 28 Th $6. T D0 D60 w8 VATBE WL 08 E340 ‘B’ § vordwrT
o), N6 Eebah S ‘w0’ & Fedoeao BaDIT, &5 Sc Dot DG 2068( 0 DTS o
Qod?

Options:

2 R BWIZ

Question Number : 91 Question Id : 8135612011 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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When two prefect gas at absolute temperatures T; and T, are mixed. there 1s no loss of energy.
If the masses of the molecules are m, and m, and the number of molecules of each gas are n,
and n, respectively. then find the temperature of the mixture.

26 e dden Ty 20800 T, ¢ o) Bot 8636 TaboPd SHOIY Y@, $§ Sl
T, &8 TP0H VYV g;jsu“%-ow SERT my, M, BN T7E) e Fonaa'gw DA™
Ny, Ny GO0, &8 QDI eg‘{}a BV,

Options:
1 % 1 +1;

T +715

2.8 2

n1T1+‘n2T2

3 ¢ n1+ﬂ.2

niTy—n,T,

711“**712

Question Number : 92 Question Id : 8135612012 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The depletion layer of an unbiased p — n junction,

Db‘béé@é p — N PodS° T FrododS’

Options:
Has no charge carriers

o, €5DF TIPS Gokiad)
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Has only electrons
VTR Hrd $9H eotron

Has only holes
3 x Cofren JHrgdd sdf &otron

p — n junction has a weak electric field

4 % P — TN P08 G0 DS S SO Eotod

Question Number : 93 Question Id : 8135612013 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A body of volume 72 cc floats with 3/4" of its volume under water. Find its density. given
density of water is 103 kg.m™3.

72 cc L0RDBITRAN (0 3109 3/4 3 Sodd BS” 20 SDarEHBRIB. o0,

&8 3R0Y) o [D8 Foge 10° kg.m™]

Options:
« 7500 kg.m™3

1
5, « 750 kg.m™3

5 % 75000 kg.m™>

Question Number : 94 Question Id : 8135612014 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The magnetic field. of a given length of wire for single turn coil. at its center1s ‘B". Then its
value for two turns coil for the same wire 1s

A0S T (10 28 Bri 28 WO 20813 T Soe DocddY ¢ WADI 08
£8:0 ‘B’ 00 SR Botd o0 0813\ TR a0 S dewd

Options:

B

3. v 1B

; 2B

Question Number : 95 Question Id : 8135612015 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A large magnet 1s broken nto two pieces, so that thewr lengths are in the ratio 2 : 1. Then.
the pole strength of the two pieces will be in the ratio

TeHw 2:1 :)fqbe;eﬁ* G0l Dol 28 DG waﬁ&ba@%_ Boch S08) 00 JETErD.
BONR), & ot A8 L EDVTL A dod?
Options:

TR

2. % &1
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Question Number : 96 Question Id : 8135612016 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A com placed on a rotating turn table just slips if it is placed at a distance of 4 em from the
centre. If the angular velocity of the turntable 1s doubled. 1t will just slip at a distance of

Bo0ane” &) S0 LR So@Bn Aot 4 cm ErEANYG” w8 THAN Gotdd Bf
2t NGV, ¢ LY ag) B Srah ) Gk BT, & THI Jod

Ardan &‘)g P08 AVELRHN?

Options:
1. ¢ lem
> % 2cm

3 % 4 cm

4 % 8em

Question Number : 97 Question Id : 8135612017 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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When the distance between two charged particles 1s halved. the force between them becomes

G0 BTV ¢ Gromd) D BRI, T8 g Lok 9.

Options:
One-fourth
1 % TGO Do

Half
2 % N

Double
3, x 08D

Four tumes
4 @ Thode

Question Number : 98 Question Id : 8135612018 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If an automobile engine 1s known to develop 1472 W at 60 rpm. how much torque does it
exert on the crank shaft?

28 ' 0DS w0 60 rpm S 1472 W 206250830008, By 5708 D Dot

5% €06, Jods?

Options:

1 & 234 N.m

> % 200 N.m
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3 % 1000 N.m

Question Number : 99 Question Id : 8135612019 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Electric charges q,q, —2q are placed at the corners of an equilateral triangle ABC of side [. The
magnitude of electric dipole moment of the system 1s

[ oman T (0 ABC 3 Dery Gzhain Tog) Surcd 30 3¢ q,q,~29
STV Gomd. & S5 DS ET'S graos HBATEN BRVYAW.

Options:
L

5 % 2ql

RALL

4, x 4al

Question Number : 100 Question Id : 8135612020 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The wavelength of an electron having energy 10 keV will be

10 keV 238 o Qo5& ABE) BGoBE 0
= = )
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Options:
, % 0.12A

, v 1.24A
5 x 12A

, » 1204

Question Number : 101 Question Id : 8135612021 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The temperature and pressure at which all the three phases of a substance coexist 1s called

w8 DEFGAND CS), JrE DA 2830 SOV ol &0 ETV 0oB0.

Options:
Sublimation point
{%@”Deje‘b Do)

1. %

Regulation
LRI E W

2.

Triple point

. o 98 DooD

Fusion point

 0DBID o
4, % »
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Question Number : 102 Question Id : 8135612022 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the relation between ‘x” and ‘y’. when a body starting from rest. moves with uniform
acceleration and travels a distance x n the first n seconds and y in the next n seconds,

NSO fga Dod oHedd ‘éamejsdmang DOIrEdon 28 SRV B n VSV “x "

ArOAY, SIS n DSOSy " Ar6AD HAIFHR), ¥,y © 6| Dotoaw

Options:

1@ 3X=Y

Question Number : 103 Question Id : 8135612023 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The capacity of a condenser is 4 X 107 F and its potential is 100 V . The energy released on
completely discharging it 1s

8 Solidyd 8 4 X 107 F 0Bty TEQOS 100 V. 00000, BN 3P0 esdderein
BT DG 35 BVYAW.

Options:
| 0027
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5 % 0.0251]
5 % 0.057

4 % 0107

Question Number : 104 Question Id : 8135612024 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What pressure should be applied to a lead block to reduce its volume by 10%? (K =6 x 10’ N.m™%)

08 S5 B0} D0R0BATEE) 10% BRotitrdS dod TR &derforrd? (K =6 X 10° N.m™?)
Options:

. x 0.6x10° N.m™

, & 6X 10% N.m™2

5 % 0.6 X10° dyne.cm™

4 % 6X%10° dyne.cm™

Question Number : 105 Question Id : 8135612025 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A beam of fast-moving a-particles were directed towards a
thin gold film as 1n Geiger-Marsden experiment. The parts
A', B' and (' of the transmitted and reflected beams

corresponding to the mncident parts A, B and C of the beam
shown in the diagram. The number of alpha particles willbe ~ ——e—¢_

v
Y~

©3{od 1A (0 a-STY Yora)) w6 VA-HK
) ----- i

WOIT6:Y) 3% D DAL T, DMWY BrdD Jedrr w\i\

A,B 0803w € Qozren B8 DAY\ A, e B8

Aot HoSreon), B' DTRG0 Botrow. T’ a-$rry

“auaJ5

Options:
minimum in B’ and maximum in C’

. % 3'66539;33) 200030 C'é"ﬁ&‘gms

maximum in A’ and mmimmum in B’

A’ &5° (583290 0Batn B’ 65° £
2. o o]

minimum in A’ and maximum in B’

5 A’ &5° s:)gnn 08030 B’ €5° rsegan

minimum in ¢’ and maximum in B’

n C' &° Q5w Hodoiw B' & (B

Question Number : 106 Question Id : 8135612026 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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»
i

The plates of a parallel plate air capacitor of capacitance ‘C” are separated by a distance ‘d
If the separation between the plates is made 1/5™ and a medium of dielectric constant 2 is
troduced between the plates. find the new capacitance.

DSV A0 ). o ‘d’ (10 w8 VAT DV SoG AW ot ‘C’. Hose S0d 06

?gu"osan 2 (0 03rds™) Gowd. 8 A0k Arod) 1/5 & Sodo dadrr, & 38

Options:
1. 2C

> % oC

5§ B

4, v10C

Question Number : 107 Question Id : 8135612027 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When does the angular momentum of a system of particles remain constant?

WS SR bﬁa‘ég A0S, §'raad Q&.‘)@du VSN i:gdorr GotOA?

Options:
When no external force acts upon the system

| DR 6 Do LPIPRED DI BOLIYYE
1.% TS D

When no external torque acts on the system

BB G D DBB00D erETjRLaA) FPESe HDABADBL)YED
2. ¢ ®
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When no external impulse acts upon the system
SIS G DD eri) DEBHB0 DIBOLIR)E

When axis of rotation remains same

D60 6 BV DBIDINILHE
4, %

Question Number : 108 Question Id : 8135612028 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When the length of a simple pendulum increased by 2%. its time period

28 VDG Vo VG, TED 2% Do, &) BHFN S*Vo

Options:
Increases by 2%

Decreases by 2%

2% SO
2. » 1

Increases by 1%

Decreases by 1%
1% égpm

4. %

Question Number : 109 Question Id : 8135612029 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The core of a transformer 1s lammated to reduce energy losses which occur due to

—

$0BTS’ BN 0N 38 3o éfr}uéwz)é 083680 a30E), Sogh LT JoS S TW?

Options:
Resistance in winding

| x oo alog) DB o

Eddy currents

i e DS DI

Hysteresis

P IBAR
3 ® e

Potential difference in winding

4w SOBC0 CIE), TOJ0DS BED0

Question Number : 110 Question Id : 8135612030 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

At what speed. the velocity head of a stream of water will be equal to 40 cm of Hg?

28 8 T6 40 cm © Hg HE330E RAPIZND{0IL SIS DT 0 Jods?

Options:

1. 2828 em.s™?!

5> % 432.6 cm.s~ 1!

3 % 632.6 cm.s™!
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832.6 cm.s~ 1!

Question Number : 111 Question Id : 8135612031 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The minimum and maximum heights attained by a child on a swing from the ground are
0.75 m and 2 m respectively. Find his/her maximum speed.
GODVS’ 28 DT SPEND &I (. Ardvo Aol © EaHY Totiv (B, S JoeD

SEM™ 0.75 m 080k 2 m 9ond, o rﬁﬁg 3G Qodh?

Options:

1 % 10 m.s™!

2.« 5 Tn.s_l

3 %= 8 m.s™*

4 % 15 m.s™?

Question Number : 112 Question Id : 8135612032 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the refractive index of water 1s 1.33. find the speed of light in water.

Q& A0S, ISFDD Aesso 1.33 AN, I8S° 570 Do dodh?

Options:
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1

5 o 225 x 10% m.s7 !

3 % 3X 10% m.s™

4 % 4%10° m.s™?

« 133 x10° m.s™!

AP EAMCET 2020

Question Number : 113 Question Id : 8135612033 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A gas performs minimum work (in magnitude) when the process is

208 D pIaLS” 28 Tra 26D HY EIRAN?

Options:
Adiabatic
5 o

g&‘qs

)

Isothermal
R eg"o@

Isobaric
28 DED
n

Isochoric

4,

?gd 0DDBATEIAD
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Question Number : 114 Question Id : 8135612034 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In which physical quantity, maximum percentage change will be observed. when
a copper sphere 1s heated?

28 T (i) DG BADYD, 808 D T AT’ (182 Sddy TS0 SLLRAL?

Options:

radius

:.1"753“6:.11:
@

area
, 2TV

volume

| 20RD0ATE0D
3.V

length

4 % TED

Question Number : 115 Question Id : 8135612035 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

T.V. signals transnutted from the surface of the moon can be received on earth. But T.V. signals
transmitted from Dellu cannot be received beyond 160 km distance. Reason being

B0 &880 0é HI6o BN T.V. 2e3Troid 2P firesioay. 50, &9 Aol
Do B T.V. Doderen 160 km Grdo &rt) BaPotdian. A3 5°6t0

Options:

1. %
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There 1s no atmosphere on moon
Wo@OAD T T DGt T

Strong gravitational force effects T.V. signals

, 5 BOROD AWS wered T.V. DoSTro DerdSo oo

T.V. signals travel along straight line. they do not follow the curvature of the earth

o o TV. odoren 20 B ardod” Hairid-ak. 99 rd dwg) Sep ekviddon

There 1s atmosphere around in earth
4 % 2300 WO TB OG0 €00l

Question Number : 116 Question Id : 8135612036 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A heavy uniform rod is hanging vertically from a fixed support is stretched by its own weight.

The diameter of the rod 1s

w8 GERD LB ol DSOSTROV) w8 WAPT 86 e BAVREID. & $¢ T
008 EPOAD 0N FABADREIG. w00d, © $a S TR0

Options:
Smallest at the top and gradually increases down the rod

| o 5% D #r6ed’ S50, $06% SDZVMT DAL

Largest at the top and gradually decreases down the rod

e P WiodS” DY) D, $oBS LI SR
2- ® o — §]

Uniform every where
3 % DEOAT S0t
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Maximum in the middle

4 x OGS (BRI

Question Number : 117 Question Id : 8135612037 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In a transformer 220 AC voltage 1s increased to 2200 V. If the number of turns in the
secondary are 2000, then find the number of turns in the primary.

8 OGS0 AC Sg& 220 Sewe Aoc, 2200 Sews) Doddod. e Aot Vozd; 2000
oW, Fads Off of) Vo) Jod?

Options:
1. v 200

> % 100
3 % 50

4 % 20

Question Number : 118 Question Id : 8135612038 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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— 4 -
In thermonuclear reaction 3 \H — ,He +,H + ;n + 21.6 MeV. the percentage of mass

converted during fusion in to energy 1s nearly

&28068 36[ 3 H — JHe +H +gn + 216 MeV &' 0B 09 853 8

208 T T TR

Options:
% 10%

, v 0.4%

3. %1%

4 % 0.01 %

Question Number : 119 Question Id : 8135612039 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The diameter of a steel rod is 8 X 10 m. What force is needs to stretch it by 0.3% of its
length? (Y = 20 x 10* N.m™?)
¥ =20 X 10" N.m™2 flo a8 e 86 TR0 8 X 1073 m. o T 0.3% Fridabeds

Dot Lo 5T d?

Options:
5
1.« 3X10° N

, u 10PN

5
3 x 2X10°N
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105
4 x 4X10°N

Question Number : 120 Question Id : 8135612040 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A particle executes S.H.M. of amplitude 3 cm. If its acceleration at the extreme position 1s
27 cm.s™ 2. then its period is

DO T8 S 008" &) Stvo EoDDBS 3 cm B @oej?sg“éu 56 BBt

27 cm.s ™% 900, TR B3GR SV BLRYA.

Options:
1, % 38
2. % 4s
3. ¢ 28
4% 1S

Chemistry
Section Id : 81356143
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
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Display Number Panel :

Group All Questions :

Mark As Answered Required? :
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Yes
Yes

Yes

Question Number : 121 Question Id : 8135612041 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following starting materials undergo substitution reaction with retention of

configuration with concentrated hydrochloric acid?

M6 EE6S vand doE’ & S0b IS Fded DETW (Soiradsew) HOEDW
$96[8° 3 020880 SIS fenrbzran?

Options:
CH;3
H " OH
. OCH;
CH;
H--..._i.-—_‘ CH->OH
=
I
CH:
2.V
3. %
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CHz
H OH
CH:
OCH;
CH;
H;CH,CH-,C *i_‘l- OH
CH,
? CH;
4, %

Question Number : 122 Question Id : 8135612042 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In NaCl crystal. the coordination number of Na™* is

NaCl 2080e5" Na™ 20505 Road| dod?
Options:
. % 12

2. % 4

3.% 8

4.v

AP EAMCET 2020
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Question Number : 123 Question Id : 8135612043 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Phenol cannot be distinguished from ethanol by the reaction with

RGBS A0l DTS A A MBI & Sod T7AS’ D S°G%0 GDHATADER?

Options:
Iodine and alkali
1 % O3 G S0B05L 0o

Neutral ferric chloride

D DBS S8
2.8 ¥ ik

Bromine water
3 % 8 e 200

Tollens reagent
4 v &8O 57680

Question Number : 124 Question Id : 8135612044 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The outer electronic configuration of Cu?% is

Cu?* CE), ] OTD D:J*’S:ban

Options:

; u Bd 4
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2 % 3d9 452

10 402
3 % 3d7 4s

4. 3d” 4s°

Question Number : 125 Question Id : 8135612045 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In a buffer solution containing equal concentration of B~ and HB. the K, for B~ is 1072,
Then. pH of the buffer solution 1s

28 D6 ErOnANY” DA mrEde Mo B~ 8ok HB $8 637 ow. B~ & K, ded
107%% 00 &3 036 Trdesdn pH dodh?

Options:
1. % 8

Question Number : 126 Question Id : 8135612046 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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H,S80, 15 prepared by furst dissolving $0; n a small amount of sulphuric acid to form oleum

and then it 1s diluting with water. S0 1s not directly dissolved in water because

R 08 esio Basr06" S0 S0; & SQI e Ry 05 TRV MARER VRN
SPGB, & ST DOS Do BF60. S0; 3 DS o Do BV 3624 0

5°0f20
Options:
505, 1s sparingly soluble in water

| x S03 QOS" B8 D 6B

The dissolution of sulphuric acid 1s exothermic

|, Puryes DD w65 Ly IS B0

A dense fog of sulphuric acid will be formed which will not condense quickly

BERD Ry B8 B Ttidvowd DBYE, OB BB GDEGHo BB
g - - "

None of these answers are correct
4% D BTN VOIS 5o

Question Number : 127 Question Id : 8135612047 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Matching the following
SoBTAN &¢h DBk
Reaction Conditions Name of the reaction
l‘f)ds ﬁﬁga ‘jﬁs ﬁ)d)
a)
CH; 1) Gatterman - Koch
CrOCl. CS,
— (0608
H;O"
b)
O
K i1) Etard
Cl i
> QY
Pd-BaS04
CH;
c)
CO, HCl 111) Rosenmund
anhyd. AICL; / CuCl 88 S0k
OFPG. AlCl: / CuCl
Options:

. La—3iY; (b-5d) 5 feri)

2‘%;?(3_’ii) c(b—=iii); (c—1)

AP EAMCET 2020
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3 % (a—i) ;(b—=iii); (c—ii)

4 % (a—ii);(b—-1i) ;(c—iii)

Question Number : 128 Question Id : 8135612048 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In electrolysis of acidic water, 10 A current is passed for 200 seconds. The total volume of
the gases evolved at the electrodes at NTP 1s

28 00i0d 2erd) 104 DB &HATAD) 200 Do I8 JBIA(FEID B

NTP 256 du§con 3¢ ety Taio)e A MIDBATHe Jod?

Options:

1 % 320ml

5 % 230 ml
3 348 ml

4 % 120 ml

Question Number : 129 Question Id : 8135612049 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

With which of the following elements Boron shows diagonal relationship?

$oBT VS’ D Areed BT G0 BI)BE?
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Options:
. = Mg

Z%Gﬂ

4,991

Question Number : 130 Question Id : 8135612050 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

KMnO, on treatment with conc.H,S0, forms a compound X. which decomposes explosively
on heating, forming Y. Compounds X and Y respectively are

¢ H,50, 8 KMnO, w0 0 '&353&'-"?{):- X Dcijc.‘m:ﬁoo&, 0008 X' K adoHrr
D> DA o Bold Y R bd:)d):nwa&. X 00050 Y S8R

Options:
1_¢M”20? & MnO,

5> % Mn,0; & MnO,

3 ® Mn,0 & Mn,0;

4 % MnS0O, & Mn,04

Question Number : 131 Question Id : 8135612051 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
A hydrocarbon CzHy, absorbs only one molecule of H, upon catalytic hydrogenation. Upon
ozonolysis, the hydrocarbon gave “hexane dial”, Identify the hydrocarbon.

T 56yS CgHyg 5PEasons’ a8 w8 Hy omdid ot otnod. LETUDD 166"
08 33\ & 66 " K 908, & IE 6y A hdetsol..

Options:
Cyclohexane

_ REED
1, %

Benzene

Cyclohexene

3 Qg".ré:)i':

Cyclobutene

Q§m5a35
4, %

Question Number : 132 Question Id : 8135612052 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Choose the correct increasing order of metallic character of the elements Be, Mg, P.

Be, Mg, P diwg), &"radiin smrsanm $08a) ROg 6frn $ar) 8vied.

Options:
1 v P<Be<Mg
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, x Be<Mg<P

¢ Be <P < Mg

Question Number : 133 Question Id : 8135612053 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following combinations come under Dobereiner’s triads?

& $08 T°08° D DodIrHAL SHTH6 BSA?

Options:

. o Li, Na, K

> = Ca, Sr, Na

3 % Cl, Br, F

4 % Na, K 5r

Question Number : 134 Question Id : 8135612054 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The number of spectral lines that are possible when electrons in the 5™ shell in hydrogen

atoms refurn to 2% shell is

TERS DOArMPHUS' 53 gvams‘mal QTR 235 o’ 367 BBIYE D6 cfe

wbl GO o] JvDOC.

Options:
1.% 8

2. % 10

Question Number : 135 Question Id : 8135612055 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In solutions. the osmotic pressure 1s directly proportional to

BIETS” ST DRGEH DEDo

Options:
Elevation in boiling point

T BOD FD &) S
1. ® ®

Difftusion rate of the solute

, Tdo IO Gew
2. %

Tonic concentration

3 o PO TGS

£ 9 AR Frdhoed” Goo.

AP EAMCET 2020
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Depression in freezing point

 0BID D D) &
4, % ®

Question Number : 136 Question Id : 8135612056 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Chemically. Borax i1s

ol o s b PO I-Fubbio as‘uvéb DA

Options:
Sodium metaborate
| w D dodo ot 5755

Sodium orthoborate

- Floso 8 5°5E5
2. % @

Sodium tetra borate decahydrate
_— oo e 5°085 asTrEes

Sodium hexaborate

. Fapo wrsmy &5
4, %

Question Number : 137 Question Id : 8135612057 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In the equation KBrO; + 5KBr + 6HNO; —— 6KNO; + 3Br; + 3H,0. Calculate
the amount of KBr0, required. in moles, to produce 0.07 moles of Br;.

KBrOs + 5KBr + 6HN O3 —— 6KNO; + 3Br; + 3H,0 $6(&" 0.07 36 © Br,

SOIrEDOS) ) e KBri; ©dd6e?

Options:
1 % 0.22

, « 0.02
5 % 0.07

4 % 021

Question Number : 138 Question Id : 8135612058 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When Zeolite. which is hydrated sodium aluminum silicate. 1s treated with hard water, the
sodium ions are exchanged with which of the following ion(s)?

20T (esg F'éobo 900N HHEES) K €83 2080 SUERIONY Jéobo
OIS ArdyG Bod wairie J9?

Options:
1 % HY

2, % O

3 JCGZ-‘-
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Question Number : 139 Question Id : 8135612059 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Dihydrogen can be prepared on commercial scale by different methods. In its preparation by

the action of steam on hydrocarbons. a mixture of CO and H, gas 1s formed. This mixture 1s

commonly known as

ek 0008" GrEad DY) Heswd’ satrd 3w, TES DD Q6 €50 186

—

S0D €0 , Hy 370500 3080 D660, A ™ DX

Options:
Coal gas

§"e§r1°§§3
1. %

Syngas
-~ msi:
2. ¥
Producer gas
5 @‘c‘.rs"naé LRSS

Industrial gas

_ BT S YD
4. %

Question Number : 140 Question Id : 8135612060 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Bayer’s reagent is used in

AP EAMCET 2020

&ob 565"y S &DHATAF D

Options:
Reduction
1 % L0560

Oxidation
| esébscsez:m
2. %

Detection of double bond

asmwe;m (LB
3.¢ -

Detection of glucose

5.3 ArED A Mo

Question Number : 141 Question Id : 8135612061 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

TUPAC name of the following compound is

Sod ‘eb;‘.néveaa» s, TUPAC ardudw

|
NH,

Options:
2-amino acid
i n 2-e920S e300

AP EAMCET 2020
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Hexane-2-amino acid
23°§35-2-92]JS €350

3-amino-hexanoic acid

3-@3)33-:3'»53303% €5:90:900
3.¢ =

2-hexane-carboxylic acid

2':3°§35'S'°8£)§:)®§ ESJ%)&JJ

Question Number : 142 Question Id : 8135612062 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the group-14 element does not react with water or steam?

208 (rH-14 Arosees’ D8 D Tor DS 3OS €965 Joco?

Options:

Question Number : 143 Question Id : 8135612063 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following is not an example of redox reaction?

0B 75" D w56y e.a%hsaea-iodmdea WE[S GG S°E0?

Options:
1. 8 CuO + HZ — Cu + Hzo

2 ¥F€203+3CO et 2FE’+3COZ

. % 2K+ F, 2KF

Question Number : 144 Question Id : 8135612064 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An 1somer of propanol among the following is

$oBT°S” THIS £ w8 Jrcs)B(Ew

Options:
Ethyl methyl ether

| o BBS DFS &i656

Diethyl ether

, 5 & 006 &b

Acetone
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Propanal
DTS

Question Number : 145 Question Id : 8135612065 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the boiling point of bromine. Given AH® and AS® values for Br, ) —— Br; ()

are 30.91 kJ.mol™* and 93.2 1. K~*.mol™* respectively. Assume AH and AS do not change
with temperature.

Bry (1) — Bry () 6{80 AH® Sodhasn AS° dewden Seorre 30.91 k I.mol™ SoBos
93.21.K™".mol™ eand Br, 6o &8 fdocsed.. (AH 2080k AS &X'
A7 ddy BoBIR oot )

Options:

, % 300K
3 % 298K

4 % 350K

Question Number : 146 Question Id : 8135612066 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The nature of colloidal solutions of starch and haemoglobin respectively are and

F6y bain FAFHAN Serand Iy AEPITD HEAIT 208030
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Options:
Positive. Negative

QAT°eh) So, 2067S) So
1. % J &
Positive. Positive
ATd) So, BT So
1 o Ty
Negative. Positive

amwéésu, c:::re:%so
3.¢v

Negative, Negative

4. %

mca“e:%és:n, amwcbée‘,o

AP EAMCET 2020

Question Number : 147 Question Id : 8135612067 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the concentrations of 4, B, C at equilibrium 1n the reaction 34 + B = 2C + D are 0.03,
0.01 and 0.008 moles/litre respectively, calculate the initial concentrations of A. B.

3A+B =22C+D tﬁtﬁ5056 R}ma“%@ bg A, B 080w € o mraden Sddrr 0.03,0.01

208050 0.008 26y/D06 ©owd, 4, B © 866z MESOR fitood

Options:

. o [A1=0042M & [B]=0014M

5 % [A] =042M & [B]=0.014M

.« [A1=0042M & [B] =0.14 M

AP EAMCET 2020
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. » [Al=42M & [B]=14M

Question Number : 148 Question Id : 8135612068 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Identity the starting material (1) and product (111) in the following

208 T7IS° F6od HEFGAN (i) SBAKL &) B0 (iii) B0 GotSolt

Na. dry ether
>
Na. & €66
R—X
: Mg. dry ether D,0O
(1) > (i - iii
Mg. ¥ 66 (11 - .
Options:
(1) (111)
o QO
1, %
@) = (ii) i
cJ. O
5 % &7 P
(1) (111)
o O
3.9
4, %
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I (i) p

Question Number : 149 Question Id : 8135612069 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The monomer units found in starch 1s

F6y S° 0 ArS06 AL DD?
Options:

f — D —Glucose
. u #—D —d4rE'S

a — D —Glucose
5 o S ArES
a — D —Fructose

a—D —‘{ggé

e

f — D — Fructose

,x B—D-28%

Question Number : 150 Question Id : 8135612070 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The surface tension of lyophilic sols is

OBrHdS JoeS © SOBJ(S

Options:
Equal to that of water

iR o Th éwaéaﬁ 28D 30

More than that of water

L PO SUSRS Lol DD

Lower than that of water

N8 BSOSV SoS B D
.Y

Much higher than that of water
58 BOSI(D S0t T DD
4, %

Question Number : 151 Question Id : 8135612071 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The lowest layer of atmosphere. which is approximately 10 km from sea-level 1s

30E 20080 G300 WATD 10 km de* o TE-I66K) ©S §oi8 TG DB?

Options:
Stratosphere
FE5" €3:5683:900

1.% &

Troposphere

5 o ¢5°° e3:5689:5
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Mesosphere

2 % N es 568950

Hyvdrosphere

5§ 8 €356

Question Number : 152 Question Id : 8135612072 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following molecules do not contain sp® hybrid orbitals?

20d wmz)wéwoes“ sp® D86 €58, 677w DABTAtE A DA?

Options:

Diamond

1¥.‘.‘)g§p

Vinyl chloride
, o IS §B&

Methanol
3 % WSS

Propane

4 % SOV

Question Number : 153 Question Id : 8135612073 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The drawback of consuming excess hydrogen carbonate as an antacid 1s

533 QFOM™ LASIVM TE2S 58 F DA Aoriied” 630 Je?

Options:
It 1s insoluble
| % 98 S6XI

It can make stomach alkaline and trigger the production of even more acid

o8 653220050 TEasS0 B 8o D) 2ok BaS” FrEB0A
‘:

It causes ulcer

3 % VN0 S STESA BVYBS

It causes pamn and 1rritation

4 % OB Sy, e sdAA

Question Number : 154 Question Id : 8135612074 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following sets of quantum numbers 1s not allowed?

$0BT S D T Ro(R DS BRIAoIRIEE?

Options:

;% n=410=3 m=-3, s=+%
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A= =0 m=0.8=—+4%

n=0,1=0 m=0.8=4%

Question Number : 155 Question Id : 8135612075 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Standard enthalpy of vaporization AH,,,, for water at 100 °C 1s 40.66 kJ. mol -1 The internal energy

of vaporization of water at 100 °C (in kJ.mol™) is (Assume water vapor to behave like an
ideal gas)

100°C 3¢ 8 e a3 dordy Desd 40.66 kJ.mol™ . 100°C 56 N8 cig), wodds
@S9 98 (k1. mol ™! ) (6 2508 e80T DG Eiotadods ePotiod:)

Options:
1 % T 43.76

, % +40.66
3 v +37.56

4 % — 43.76

Question Number : 156 Question Id : 8135612076 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In the preparation of soap. which of the following raw materials undergo alkaline hydrolysis?

SN Saird PSS’ BT’ O A¢ DTG0 36 20 D36 BoA ?

Options:
Heavy oils
1 % @0 AFJW

Natural fat

5 o RIPR §PIW

Glycol

s~
A B S

Wax

43@6.&»

Question Number : 157 Question Id : 8135612077 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A gas “X" 15 used to punfy air m cinema halls. It 15 also used as germicide for sterilizing

water and 1t converts black PbS mto a colorless compound. X's allotrope “Y" reacts with dry

potassium metal forming a yellow solid “Z”. Identify X. Y. Z.

X 3 Tao) DS ey 6D O 180 Bahowis TS baw N
$D00PB0 BosRIL) DR EDArHTED. 08 SV O P& 2 Goh T
DEGIVT SrEN. TR Erarodsin Y Terao &rod w6) Job DR dord 203
DErean 7 8 WD, X, Y, Z 0 thBotdod.
Options:

1. ¢ 031 02- KOZ
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4 02, 03, KO;

. % 03, 05, KOy

4 % 02, 03, KO,

Question Number : 158 Question Id : 8135612078 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equilibrium constant for the reaction the A, (5) + By () = 24B 4y 1s °K;". The

equilibrium constant for the reaction 2AB ;) + B, () = 24B; 5 1s °K;’. Find the

equilibrium constant ‘K. for the reaction AB; (4) = >4z (g) T By () in terms of Ky, K,

A (g)  Ba(g) = 2B (5) $6{% 20523 R070So K, 080w
24B (g) + By ) = 24B, (5) S6{% D0TRD Doroso’K, eod,

1 W L Lre r '
AB, (g) # 5 A1(g) T Ba(g) WO awga fgu"os:: (‘K’) Ky, K, 08 dodok.

Options:
1
2K K,

14, 7

Y
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Question Number : 159 Question Id : 8135612079 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Klggg + L2

Kl (ne) + I

Options:

u By

>, ¢ K3

3. % I

4. % Kb

Question Number : 160 Question Id : 8135612080 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Room temperature phase diagram of C0, 1s given below. If at 3.8 atm, the temperature of
the system 1s decreased from —57 °C to —78 °C, what type of phase transformation will the
system undergo?

560 & 85\E(C0,) aog) &T's, 668 Srddy Bar DAw Brbdd BHWEDS. 3.8 atm

D00 96 330 AR ~57°C ool —78°C £ ANY, YN & 330 Tod 58
A ® B i T (]

S56y D?

Diagram not drawn to scale
Saimian fabmm Aabercdc

L e W

|
ﬁ_-__-,_
3

—

Options:
Condensation

| % P00 Do

Deposition / reverse sublimation

29000 (856 ) &\ BV WoORD
g T .

Sublimation
3 % eéhéé;h) Do

Condensation then solidification

4 % 200D Bod ST RBDoLILICOR
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